

Adı Soyadı:.....

### RESİMLİ TOPLAMA İŞLEMLERİ

$$\begin{array}{c} \odot \odot \odot \odot \odot \\ \odot \odot \end{array} + \begin{array}{c} \odot \odot \odot \odot \odot \\ \odot \odot \end{array} = \square$$

$$\begin{array}{c} \star \star \star \star \star \\ \star \star \star \end{array} + \begin{array}{c} \star \star \star \end{array} = \square$$

$$\star \star \star + \star \star \star \star = \square$$

$$\star + \begin{array}{c} \star \star \star \star \star \\ \star \star \star \end{array} = \square$$

$$\begin{array}{c} \star \star \star \star \star \\ \star \star \end{array} + \begin{array}{c} \star \star \star \end{array} = \square$$

$$\star \star + \begin{array}{c} \star \star \star \star \star \\ \star \star \end{array} = \square$$

$$\begin{array}{c} \star \star \star \star \star \\ \star \star \star \end{array} + \begin{array}{c} \star \star \star \star \star \\ \star \star \star \end{array} = \square$$

$$\begin{array}{c} \star \star \star \star \star \\ \star \star \star \end{array} + \begin{array}{c} \star \star \star \star \star \\ \star \end{array} = \square$$

$$\odot \odot \odot \odot \odot + \odot \odot \odot = \square$$

$$\begin{array}{c} \star \star \star \star \star \\ \star \star \star \star \end{array} + \star = \square$$

$$\star \star + \star = \square$$

$$\star + \star \star \star \star = \square$$

$$\odot \odot \odot \odot \odot + \odot \odot \odot \odot = \square$$

$$\begin{array}{c} \star \star \star \star \star \\ \star \star \star \star \star \end{array} + \begin{array}{c} \star \star \star \star \star \\ \star \end{array} = \square$$

$$\odot \odot \odot \odot + \odot \odot \odot = \square$$

$$\begin{array}{c} \star \star \star \star \\ \star \star \star \end{array} + \begin{array}{c} \star \star \star \star \star \\ \star \star \star \end{array} = \square$$

$$\star + \begin{array}{c} \star \star \star \star \star \\ \star \star \star \star \star \end{array} = \square$$

$$\odot \odot \odot \odot \odot + \odot \odot = \square$$

$$\begin{array}{c} \odot \odot \odot \odot \odot \\ \odot \end{array} + \begin{array}{c} \odot \odot \odot \odot \odot \\ \odot \odot \end{array} = \square$$

$$\star \star \star + \star \star \star \star \star = \square$$

